Potencias de 10 (A)

Calcule los siguientes productos y cocientes.

9.7114 x 10!

8.1898 x 10!

6.9409 - 10?

6.4078 +10?

2.4065 = 102

7.7737 +10°

4.4846 + 10!

5.5731 = 10!

2.8529 x 10?

3.0592 = 102

7.7304 x 10°

7.3629 x 102

3.3447 x 10!

1.3828 + 10!

5.4215 x 103

8.0737 =107

2.9775+ 107

3.0629 x 10!

9.7253 +10°

4.2571 + 10!
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Potencias de 10 (A) Respuestas

Calcule los siguientes productos y cocientes.

9.7114 x 10’
97.114
8.1898 x 10!
81.898
6.9409 = 10°
0.069409
6.4078 + 10?
0.064078
2.4065 +10?
0.024065
7.7737 =103
0.0077737
4.4846 + 10!
0.44846
5.5731+10!
0.55731
2.8529 x 10?
285.29
3.0592 = 10?
0.030592

7.7304 x 103
7,730.4

7.3629 x 10°
736.29
3.3447 x 10!
33.447
1.3828 — 10!
0.13828
5.4215 % 10°
5,421.5

8.0737 + 102
0.080737
2.9775 +10?
0.029775
3.0629 x 10!
30.629
9.7253 + 10
0.0097253
4.2571+10'
0.42571

MatesLibres.Com




